Tableaux des Puissances de Dix (G)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 1000 10 000 10 100

4,68

2,95

5,02

3,48

8,64

X 10 10 000 1000 100

9,24

8,17

2,25

5,98

6,3

+ 10 10 000 100 1 000

3,7

4,86

5,65

1,15

9,55

= 100 10 000 10 1 000

6,67

7,2

8,77

1,7

2,92
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Tableaux des Puissances de Dix (G) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 1000 10 000 10 100
4,68 4 680 46 800 46,8 468
2,95 2950 29 500 29,5 295
5,02 5020 50 200 50,2 502
3,48 3 480 34 800 34,8 348
8,64 8 640 86 400 86,4 864

X 10 10 000 1 000 100
9,24 92,4 92 400 9240 924
8,17 81,7 81700 8170 817
2,25 22,5 22 500 2250 225
5,98 59,8 59 800 5980 598
6,3 63 63 000 6 300 630

+ 10 10 000 100 1000

3,7 0,37 0,00037 0,037 0,0037
4,86 0,486 0,000486 0,0486 0,00486
5,65 0,565 0,000565 0,0565 0,00565
1,15 0,115 0,000115 0,0115 0,00115
9,55 0,955 0,000955 0,0955 0,00955

+ 100 10 000 10 1 000
6,67 0,0667 0,000667 0,667 0,00667

7,2 0,072 0,00072 0,72 0,0072
8,77 0,0877 0,000877 0,877 0,00877

1,7 0,017 0,00017 0,17 0,0017
2,92 0,0292 0,000292 0,292 0,00292
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